Oneroot ofthe quadratié equation

MATHEMATICS . s 1
4.QUADRATIC EQ UATI 2x* — px+6="01s2. Find the other root and
TWO MARKS QUESTIONS the value of p.
, | Rt Solve forx :@2b*x* +b*x—a’x—1=0
L. Ifthe equation fx* —2kx+6 = 0;;:‘5 €quat | 9. Onerootof x> —=7x+10=10 and
roots, then find the value ofk. ' ) o . Find thi
2 ; uadratic X2 —10x+16= 018 ccm'nnon. n 1S root.
2. Higithemors ofthe followingd 71. Solve the following equation for x::
NEETTE (P . 11,1
equation: X —'5"*"166-‘ S TR S
3. Find the values of p for which the following a+b+x a b X
" equation has two equal roots: 72. Ifthe equation x*> +4x+k =0 has real and
- isti find the value of k.
(p—lz)x2+2(p—12)x+2—0 distinct roots, .
: . ts of quadratic
4. If-5isaroot of the quadratic equation 23. Find t‘he nan:re Zi;;e mz . ooqua e
2 —15= d the value of p. equation 3y~ — X== 3
2x° +px—15 ) b, fm 1‘ SVElE R 24. Find theroots of the quadratic equation
5. SF’IVC for x: ax” + (4(1' = 3‘b)x —ll2ab ={ 6xt —3—2=0 by factorisation.
6.  Find the roots of the quadratic equation: 2 x
' 25 . ——==10=0
L JMx+1=0 Ry BolvB s
1:3’- ' . : 26. Find two consecutive natural numbers, the sum
7. ind the roots of the quadratic equation: of whose squares is 85.
4x* —4px+ (p2 - ql) =0 77 Iftheroots of x>+mx+12=0 are in the ratio 1:3
8.  Find the value of ‘p’ for which the quadratic then find ‘m’. o
equation has real and equal roots 28. Ifp, q are the roots of equation x>-7x+10=0,
. 9 then find the equation whose roots are p+2, qt2.
2% TIPS 29 Ifthe sides of aright angled triangle are X, x+2,
9.  Find the roots of the quadratic equation: x+4 (x>0), then ﬁ“d X
3’# -39 THREE MARKS QUESTIONS
5 5 1.  Find the roots of the equation:
; 1 2 i R i
10x——=3,x=0 ax"+a=a x+X
10. Solveforx: 15 x ak 2. Find the roots of the equation
11. Find the values of ‘k’ for which the following 3 i3 2 L ) 2
cugation has equal roots. . ;il q &(a j:b 2:1 i (“- d‘ b_ ) =¥
’ ) , B 3 “ind the roots of the quadratic equation:
(!‘ o 12)x +2(A B 12)x+2 =0 @b’y +bix—a’x—1=0
12. The product of two consecutive positive 4. Solveforx:
integers is 306. Find the integers. gx® —6aix+ (a‘ _p ) —0
. 13. For what value of ‘k’ the equation i :
5.  Solve for x’bymethod of completing the
4x* —2(k+1)x+(k+1)=0 hasrealand square 2x? 4+ y—4 =0 -
equal roots? . - . 6. Solve forax:
14. Determine the roots of the following quadratic 9x* —9 (a + b)x + [?.a2 +5ab+ 2b3] =0
equation: 4/5x% —17x+3+/5=0 7. Solvethe quadratic equation
15. Find, for what values of ‘k’ does the quadratic 9x? —15x+ 6 = 0 bythemethod of
equation x? 4 2x + k> —3 = 0, hasreal and completing the square
equal roots 8. Forwhat value(s) ofk will the quadratic
' equation
-'16. If2 and 1 are the two roots of the quadratic (g o 1) 2 49 (k+3)x
cgatiof i’} s 2= FEIRATGY, real and ;Qu_'tl rc(aot_:‘? e =tines
17. Find tl':e roots of the quadratic equation 9.  Solve, for value ofxz
L__4\Ex +5x—2v/3=0 4x* —2(a* +b*)x+a’b* =0
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10.

11.

12.
13.

14.

13,

16.

17.

18.
19.
20.
21.

22.

23.

24,

If-2'is aroot of the quadratic equation 25

x* — px—5=0 and the quadratic equaticn

x* 4 px + k = 0 has equal roots, find the
value ofk.

Determine the positive values of *k’ for which
the equation 2 4 jy 464 = 0 and

x* —8x + k = ¢ will both have real and equal
roots.

Solve forx: 6x2 +7x—10=0
Ifroots of'aquadratic equation

(b—c)x? +(c—a)x+(a—b)=0
are real and equal, then prove that 2p — g +¢

Find the roots of the following quadratic
equation using quadratic formula;

abx® + (bz - ac) x—=bc=0
Using quadratic formula, solve the following
equation for x: 36x* —12ax + (a2 —bz) =

Find the value ofk so that the following
quadratic equation has equal roots

2 —hke+(k—1)=0
Find the nature ofthe roots of the following
quadratic equation. Ifthe real roots exist, find

them. 3y2 — 4f3x +4=0
If the roots of the Quadratic equation

(b-lc)x2 —I—x(c.—a)+a—b =1
are equal, then prove that 2p =g +¢

In px* + 4J§x +3 =0, find the value of p,
so that '

(i) the roots are real

(i1) the roots are not real

(ii1) the roots are equal

Solve forx: 4./3x* +5x—23 =0

Solve x° —(ﬁ+l)x+~/§=0 by the

method of completing the square.
For what value of k does the quadratic

equation (k —5)x* + 2(k —S)x +2=0

have equal roots? '
Ifthe equation

(1 +m’ ] n’x* + 2mnex + (c2 - az) =i

has equal roots of x, prove that

ct =4 (l + mz)

If-5 is aroot of the quadratic equation _
2x° + px—15=0 and the quadratic equation

P (x ‘4 I) + k = 0 has equal roots, find the
value ofk.

26.

2L

28.

29,

30.

.3

32.

33.

34.

35,

36.

37.

38.
39.

Find the roots of the quadratic equation
a’b*x* + b x—a’x—1=0
If y — 2 and x =3 are the roots of the

equation 3x? — 2kx +2m = 0, find the values
ofk and m.

1 1
—_— + =t
a+b+x a b x

a=0b=0,c=0and g4+b+x=0

-

Solve for x:

Solve the following equation forx

4 3 .
x - 2x+3 . _
Find the roots of the given equation: i
x—1 2x+l=~5—:‘v’x¢1,——
2x+1  x—-1 2 2
Solve forx:
4x_w—7rﬂﬁl=ixi—ll
x+3 x—1
Solve the following equation for x:
22”+1-Q5[x_3}:i A
x—3 2x+3 2
Solve for x:
e
x+1 x+1
Solve forx:
4 2 3
——3= , 0,—=
x 243 where X = >

The sum of two natural numbers is 8.

Find the numbers ifthe sum of their reciprocals
8

is 5

The difference ofthe ages Sohrab and his father

is 30 years. Ifthe difference of the squares of

their ages is 1560, Find their ages.

The sum ofthe ages of a father and his son is
50 years. Five years ago the product of their
ages was 175. Find their present ages.

Find two consecutive odd positive integers,
sum of whose squares is 290.

In a class test, the sum ofthe marks obtained
by astudent in Mathematics and Science is 28.
Had he got 3 marks more in Mathematics and
4 marks less in Science, the product of the

marks would have been 180. Find his marks in
two subiects.
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MATH
40.

41.

=“wEd[]

EMATICS
7 years hence the age ofa child will be three
times ofhis age 3 years ago. Find the present
age of'the chiﬁi

- |

—

The sum of a numberand its reciprocal is 2 12

- Find the number.

42,
43.

44,

45,
46.

47.

48.

49.

Find two consecutive odd positive integers,
sum of whose squares is 290. i
The sum S offirst n even natural numbers is

givenby therelation S = n(n+1).Findn, ifthe
sum is 420. _

The sum of ages (in years) of a son and his
fathet is 35 years and product of their ages

I1s 150 years. Find their ages. -

The sum of'the squares of two consccutive
natural numbers js 42 1. Find the numbers.

The sum of reciprocals of child’s age (in years)
3 years ago and 5 years from now is %
Find the present age of the child.

' T o
Out ofa group of swans, 3 times the square

root of the total numberare playing on the shore
ofatank. The two remaining ones are playing
in the water. Find the total number of swans.
Find the nature of the roots of the Quadratic
equation 2x>-6x+3=0. Ifthe real roots exist, find
them. :

If the following situation is possible? If so,
determine their presnt ages.

The sum of the ages oftwo friends is 20 years. 4
years ago the product of theirages in years was 48,

FOUR MARKS -QUESTIONS

A train takes 2 hours less for a joumey of
300 km ifits speed is increased by Skm/hr
from its usual speed. Find the usual speed of
the train.

A shopkeeper buys a number of books for

Rs.1200. If he had bought 10 more books.for

the same amount cach book would have cost
is Rs. 20 less. How many books did he buy?
A motorboat whose speed is 18km/ hrin still

~ water takes 1 hour more to go 24 km upstream

than to return downstream to the same spot.

" Find the speed of the stream.

. —— e

In a flight of 600km, an aircraft was slowed down
due to bad weather. The average speed for the
trip was decreased by 200kin/hr. and the time
of flight increased by 30 minutes. Find the
duration offlight.

10.

12.

5.

16.

A plane left 30 minutes later than the sched
time. In orderto reach its destination '500kn1
away in time. It has to increase the speeg by
250km/hr. Find its usual speed.

Some students planned a picnic. The blldgetfm.
food was Rs.480. But 8 of these failed tq

go and thus cost of food for each member.
increased by Rs. 10. How many students
attended the picnic?

An acroplanc left 40 minutes late due to heg
rains and in order to reach its destination,
1600km away in time, it had to increase its
speed by 400km / hr from its original speed,
Find the original speed of'the plane.

A two-digit number is such that the product of
the digits is 35. When |8 is.added to this
number, the digits interchange their places,
Determine the number, -

- The diflerence of square of two numbers is 180,

The square of the smalier number is 8 times the
large number. Find the two numbers.
Ajourncy of 192km from a town Ato town B
takes 2 hours more by an ordinary passenger
train than a super fast train. Ifthe speed of the

Aaster train is 16km/h more, find the speeds of

the fasterand the passenger train.
A vehicle travels at a certain average speed for

adistance of 63 km and then travels a distance

of 72 km at an average speed of 6km/h more
than its original speed. Ifit takes 3 hours to
complete the tolal journey, what is its original
average speed?

In aclass test, the sum of the marks obtained by |

X" in mathematics and science is 28. Had -

he got 3 more marks in mathematics and 4 marks
less in science.the product ofthe marks obtained
in two subjects would have been 180, Find the
marks obtained by him in two subjects separately.
A passenger train takes 2 hour less fora journey
of 300km. ifits speed is increased by Skm/h
from its usual speed. Find its usual speed.
Theareaof aright triangleis 600cm-. If the
base of the trianglc exceeds the altitude by
10cm, find the dimensions of the triangle.

The denominator of a fraction is onc more than
twice the numerator ifthe sum ofthe fraction

' . o 16 :
and its reciprocal is 37—1 .find the fraction

300 apples are distributed equally amonga
certain number ot students. Had there b?cn
10 more students,cach would have received

one apple less. Find the number of: students.
T I
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17.

18.

19.

20.

21

22

23

24.

26.

A fast train takes 3 hour less than a slow train
for ujo;{rpcy of600km. Ifthe speed of the
slow ll:illn is 10km/hr less than that of the

fast train, find the speeds of the two trains.
Froma f;tation, two trains start at the same time.
One train moves in west direction and other
in North direction. First train moves Skm/hour
faster than the second train.If after two hours
distance between the two trains is 50km, Fin:]
the average speed of each train.

Two water taps together can fill a tank in

il . :
m hrs. The tap of smaller diameter takes

2 hours more than the larger one to fill the tank

separately. Find the time in which each tap can
separately fill the tank.

A student scored atotal of 32 marks in class
tests in mathematics and science. Had he
scored 2 marks less in Science and 4 more in
Mathermatics,the product of his marks would
have been 253. Find his marks in two subjects.
A person on tour has Rs.360 for his daily
expenses. Ifhe exceeds his four programme
by 4 days, he must cut down his daily expenses
by Rs.3 per day. Find the number of days of
his tour programme.

A car covers adistance of 90km at a uniform
speed. Had the speed been 1 5km/hrmore,

car would have taken 30 minutes less for the

* journcy. Find the original speed of the car.

In a class test, the sum of shefali’s marks in
Mathematics and English is 30. Had she got
3 marks more in Mathematics and 3 marks
less in English,the product would have been
210. Find the marks in the two subjects.
A takes 6 days less than the time taken by B, to
finish a picce of work. Ifboth Aand B
together can finish itin 4 days, Find the time
taken by B to finishg the work.
The speed of a motor boat in still water is
I5km/h. It can go 30km upstream and return

I :
downstream in 45 hours. Find the specd

of the stream.
Sum ofthe arcas of two squares is 340m?. If the
difference of their perimeter is 8m. Find the sides

ofthe two squarcs.

27.

28.

29.

30.

3.

32.

33.

34.

35.

36.

P

38.

Rs.9000/- were divided equally among acertain
number of persons. Had there been 20 more
persons,each would have got Rs. 160 less, find

the original number of persons.
' |

Two pipes running together fill acistem in 3 T

minutes if one pipe takes 3 minutes more than
the otherto fill the cistem. Find the time in which
each pipe would fill the cistern.
Determine the value of *p’ so that the equations
X'+ pr+64=0 and x> —8x+ p =0 will
both have real roots. ' -
Ifthe price ofa book is reduced by Rs.5,
a person can buy 5 more books for Rs.300.
Find the original list price of the book.
Two water pipes together can fill atank in
2 hours. The tap of larger diameter takes
3 hours less than the smaller one to fill the tank
separately. Find the time in which each tap can
separately fill the tank. ! _
A fast train takes 2 hours less than aslow train
fora journey of480km. If the speed of the slow
{rain is 20km/h less than that of fast train, find
the specds of the two trains. '
A car covers a distance of 90km at a uniform
speed. Had the speed been | Skm/hr more, it
would have taken 30 minutes less for the
journey. Find the original speed ofthe car.
A plane left 30 minutes later than the schedule
time and in order to reach its destination.
1500km away in time 1t has to increase its
speed by 250knv/hr from its usual speed. Find
its usual speed. ® 3
A piece of cloth costs Rs.200. Ifthe piece was
5m longer and each meter of cloth costs Rs.2
less the cost of the piece would have remained
unchanged.How long is the piece and what is
the original rate per metre?
A person on tour has Rs.3600 for his expenses.
Ifhe extends his tour for4 days, he hasto cut his
daily expenses by Rs.30. Find the original
duration of the tour. :
John and Jivanthi together have 45 marbles. Both
of them lost 5 marbles each and the product of
the number of marbles they now have is 124.
We would like to find out how many marbles
they had to start with. '
Naimish'smotheris 46 ycars older than him. The
product of their ages (in years) 3 years from now
will be 1071. We would like to find Naimish’s
present age. Represent the given situation in the
form ofa Quadratic equation. How onc should
care their parents in old age ? '

— P
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